Black Forest Container Systems, LLC

Stainless Steel Packaging Specialists

Replacements Parts Catalog

Commitment to Environment
Commitment to Quality
Commitment to Value

When Quality Matters Your Reputation Should Be Stainless™
1186 Pendleton Street, Greenville, SC 29611
P: 864-282-2301 F: 864-282-2303



INDEX

Eyebolt Set

Category Page

Manway Cover 3

4-7
Pressure Relief Valve 8-10
CO2 Valve 0.5 inch 11
CO2 Valve 6.5mm 12-13
CO2 Valve 12mm 14-15
CO2 Valve Kombi 16-17
Clutches & Adaptors 18-19
Butterfly Valve 2-1/2" TC 20-23
Butterfly Valve KK DN 050 24-26
Butterfly Valve DNO50 27-28
Blind Nut Set for BFV DNO50 29

30

Foot Inserts




Manway Cover and Accessories

Part Number

ASP669

ASP713

ASP637

Description

NW400 Manway Cover with
Nipple/304

NW400 Silicon Seal for
Manway 45° Shore

Seal DN 400 70-73° Shore
Silicon



Eyebolt Sets

Part Number Description

ASP681 Eyebolt set M10 Complete
w/wing nut & retaining ring
304

ASP342 Eyebolt set M10 Complete
w/hex nut & retaining ring
304

ASP089 Eyebolt M10x7mm / 304




Eyebolt Sets cont’d

Part Number

ASP638

ASP639

Description

Hexagonal Nut
M10x20mm/Brass

Wing Nut M10/ Brass

T-Handle/Brass



Eyebolt Sets cont’d

Part Number

ASP640

ASP641

ASP642

Description

Washer for Lid Assembly /304

Square Washer for Lid
Assembly/304

Bolt for Eyebolt w/bore hole for
split pin /304



Eyebolt Sets cont’d

Part Number

ASP643

ASP644

ASP642

Description

Bolt for Eyebolt w/bore hole for
split pin and flute /304

Split Pin for Bolt/304

Retaining Ring for Bolt /304



Pressure Relief Valve M24 x1.5

Part Number

ASP685

ASP664

ASP647

Description

Pressure Relief Valve Complete w/
Guide

PRV Housing/304

Guide for Spring /Plastic



Pressure Relief Valve M24 x1.5 cont’d

Part Number

ASP648
ASP649

ASP044

ASP650

.

Description

Spring/304

Valve Plate /Drills/304

Red Silicon Seal w/nipple

Tappet without Drills/304



Pressure Relief Valve M24 x1.5 cont’d

Part Number Description
ASP910 Red Silicon Seal w/leg
ASP651 Lockwasher/304
ASP124 Weld Nipple/Threaded

M24x1.5mm

10




CO2 Valve 0.5inch

Part Number

ASP652

ASP653

Description

CO2 Gas Cock 0.57/304

Threaded Nipple 0.5"/304

11



CO2 Valve 6,5mm

Part Number

ASP381

ASP655

ASP005

ASP179

Description

Quick Disconnect Complete
Assembly 6.5mm/304

CO2 Valve Housing w/0-ring
6.5mm /304

O-ring//EPDM

Spring Body with o-ring /304

12



CO2 Valve 6.5mm cont’d

Part Number

ASP045

ASP125

ASP020

Description

O-ring for Spring Unit/Silicon

Threaded Nipple 6.5mm/304

Cap wi/tear flap plastic

13



CO2 Valve 12Zmm

Part Number

ASP487

ASP655

ASP005

ASP179

.

Description

Quick Disconnect Complete
Assembly 12mm/304/NW12

CO2 Valve Housing w/0-ring
12mm /304

O-ring Valve Housing/Viton

Spring Body with o-ring /304

14



CO2 Valve 12mm cont’d

Part Number

ASP479

ASP486

ASP490

ASP670

Description

O-ring for Spring Unit/Viton

Threaded Weld Nipple

M22 x 1.5mm/304

O-ring NW12 Nipple/ Viton

Adaptor 2" for NW12/304

15



CO2 Valve Kombi

Part Number
ASP674

ASPG675

ASP676

ASP677

.

Description

CO2 Valve Kombi Complete
304

CO2 Housing /304

Tappet/304

Spring/304

16



CO2 Valve Kombi cont’d

Part Number

ASP678

ASP679

Description

Hull/ 304

O-ring for hull / Silicon

17



Clutches and Adaptors

Part Number Description

ASP311 NW6.5 Female Quick
Connect Liquid or Gas /304

ASP656 CO Cplg/90° hose clip 74" t
thread end for valve type
coca 304

ASP657 CO Cplg LL4-HKP Kombi
Valve/304

ASP658 Connection for CO Cplg

LL4-HKP / 304



Clutches and Adaptors cont’d

Part Number

ASP659

ASP488

ASP803

Description

Flat Seal /INBR

NW12 Female Clutch

NW12 Female Clutch

Assembly including V2"

adaptor

19



Butterfly Valve 2-1/2” Triclamp

Part Number

ASP607

ASP608

ASP361

ASP360

Description

Welding Flange /304

Triclamp Flange / 304

Hand Lever lift and turn /304

Screw for Hand Lever / 304

20



Butterfly Valve 2-1/2” Triclamp cont’d

Part Number

ASP359
ASP355
G ASP327
ASP 356

.

Description

Spring for Hand Lever /304

Valve Seal disc 2-1/2” /1304

Red Silicon Seal 2-1/2”

Small bushing for rotary flap
POM

Large bushing for rotary flap
POM

21



Butterfly Valve 2-1/2” Triclamp cont’d

Part Number Description

ASP564 Plug / Polyethylene

ASP610 Hexagon Screw Bolt M8/304
ASP611 Hexagon Nut M8/304
ASP142 Triclamp Clamp 2-1/2” /304
ASP 612 Clamp Blank / 304

22



Butterfly Valve 2-1/2” Triclamp cont’d

Part Number Description

ASP141 Trriclamp Seal 2-1/2” JEPDM

ASP214 Plastic Triclamp Cap

23



Butterfly Valve KK DN 050 2”

Part Number

ASP614

ASP615

ASP616

ASP617

Description

Welding Flange/ 304

Threaded Flange/ 304

Hand Lever /Plastic

Round Screw /A2

24



Butterfly Valve KK DN 050 2” cont’d

Part Number Description
ASP618 Locking ring /304
ASP619 Rotary Flap / 304
ASP620 Red Silicon Seal 2”

ASP621 Plug Polyethylene



Butterfly Valve KK DN 050 2” cont’d

Part Number Description
ASP622 Socket Head Screw / A2
ASP623 Lockwasher /304

€ ~ AsP624 Slotted Nut /304

= |

26



Butterfly Valve

DNO50

Part Number

ASP686

ASP687

ASP688

ASP689

ASP690

Description

Butterfly valve complete / 304

Welding Flange / 304

Threaded Flange / 304

Hand Lever /304

Rotary Flap / 304

27



Butterfly Valve DN 050 cont’d

Part Number

ASP625

ASP626

ASP627

ASP628

ASP629

Description

Red Silicon Seal

Bushing Polytetrafluorethylene

Hexagon Head Screw/304

Hexagon Nut /304

Seal/ Perbunane

28



Blind Nut Set for Butterfly Valve DN 050

Part Number

ASP630
ASP631
ASP632
ASP633

welded part
on the
container

Description
Blind Nut With Knob / 304 (ref 230010)
Sealing Plate/ Perbunane (ref 230520)
Rope 3mm x 470mm length/304 (ref 210050)
Clamp for Rope/Aluminum (ref 210070)

Part Number Description
ASP625 Blind Nut w/o Knob
Plastic

ASP609 Disinfection Filter for
BFV DN 050

29



Foot Inserts

Part Number

ASP635

ASP636

ASP113

ASP114

ASP115

ASP116

Description

Foot Insert/ Polypropylene

Foot Insert High / Polyamide

Foot Insert / Polypropylene

Socket Head Screw /A2

Hexagon Nut / 304

Washer / A2

30





